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Chemistry Final Exam Free Response Version EE
You must show all work to receive full credit for an answer.  No electronic devices are allowed to be used.  In the event that you are caught using an electronic device your score will be cancelled and you will receive a zero.
1. If the reaction is started with 1000.0 g N2 and 500 g H2, what amount of ammonia can be produced?
N2  +  H2  (  NH3
2.  A total of 7.0 moles of aluminum carbonate is dissolved in enough water to make 7.0 L of an aqueous solution.  

A. Write the chemical formula for the solute in the solution.
B. Calculate the molarity of the solution.

3.  In a titration, 16.0 mL of 0.75 M H2SO4 is neutralized by 75.00 mL of KOH?
A.  Calculate the molarity of the base.

4.  Translate the following word equation into properly balanced chemical equations.

A.  The combustion of propane.

5.  Write the electron configuration for Si4+:
6.  Write the electron configuration for S2-:

7.  What volume of CO2 at STP can be produced by the reaction if 12.0 g of NaHCO3 is used?




NaHCO3  (  Na2CO3  +  CO2  +  H2O

8.  Assume the following hypothetical reaction takes place:



9M  +  3B  + 2R (  5BB  +  10Y
The reaction of 7.89 mol of R produces 0.0349 mol of Y.  Calculate the percent yield.

9.  Determine the pH of the following hydroxide concentrations:


A.  1 x 10-10

B.  3.7 x 10-4

C.  7.8 x 10-2
10.  Draw the following :
  3-methyl-1-pentyne
11.  Name the following:
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